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Advance paper for: ITl Electrician Category-li ST T™M

01

YRd T, mwm&mmmaﬁwwmm

In India, mains Supply Voltage used for domestic electric appliances is o Volt.

diee gl gl

A)Y 110 | B)48} ' TC)y220 D)5

02

Single phase induction motor is made self-start by using ___ ﬁma Sl ESGQFT
WeXd 1 IUGHT B W-URY [par srar g1

| A) Resistance - B) Capacitor - C) Inductor D) Semi-conductor

ufeRiY LEIICE EAC o | e

03

Which of following is used for short circuit protectlon of electrical circuit?

fegd Wihe & e Tihe Qe & R Frafiiea o F figarsuar fa s 82

A) Resistance Ufa<1y | B) Overload Relay | C) Contactor d1<dX | D) Fuse TSl
| e fal

04

The unit of capacutance is  uRA &'ﬁ%’ﬂﬂg E?I?ﬁ H

A) Ampere TAR | B) Farad Y18 C) Hennery 3Rt | D) Volt diee

05

electrolyte is used in lead acid battery. - Qﬁl@' éa"r e _ Cal
RIgd-3HeT Wey SUgNT T o 31

A) NaOH B) H2S04 CYACI D) LiSOs

06

What s the voltage rating of single dry-cell (Zlnc-Carbon)’? TH T I9d (SIl- Wvﬁ)

1 dieee e BT 82

A)15V o B)2.2V C)24V D)3.6V

07

The equivalent resistance of‘three reélstances each of 3 ohm connected in parallel,

will be Ohm. FHIEIR & 3, maahaéseﬂquﬁmth arwgwuﬁfrtr
_ 3l g ,

.A)3 B T [O8 Dy 1

08

How many minimum diodes are required in full wave bndge rectifier? Pci qq fowr|

Wﬁmmﬁmaﬁw 87

A1 __|B)3 C) 4 D) 8

09

Which one of the foIIowmg is not an insulator? ﬁ'&ﬁﬁﬁf{ﬁ | Uh Glaﬁ?ﬁﬁ pr[%?

A) Mica 34| -B) Graphite fmﬂs‘d Plastlc TS D) Porcelain u‘rﬁf@ﬁ

10

Which of the following electrlcal machine has hlghest efficiency? ﬁ'ﬁﬁf@ﬁ | m

fagga SusRy | Gallte qafrar g2
A)Synchronous Motor | B) DC motor 10) Induction motor |'D) Transformer
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11

What parameter does not change from input to output of a Power transformer?

UlaR TIIHTHR & $79C 9§ 3SeYc dd dI-s O uRaldd 8 aidt 87

A) current ¥IRT | B) voltage ﬁ]@ﬁv C) frequency Gﬂqﬁl - | D) All of these T gt -

112

The squ1rrel -cage induction motor has ‘sl.ip ring. @@ﬁ Pl QGHQF-[ ey §

A)0

g R adt 81
B)2 c)3 D)1

13

_ wire'is used to prepare:electrical heater ﬁ\_ﬁﬁ Dl él dar ﬁ 37 fﬁ
_ gigRImfaraEr e

A) Steel ©ld B) Copper disT | C) NichromeTﬂ'erﬁII D)AIuminiqu?{Fmem'ﬂr

14

Which of the followings is related to Ohm’s Iaw'?ﬁ'ﬁﬁ'f@?lﬁ@mﬁ e g %TEIT(‘FT
R |

A)I=VR B) I= V2R C) P=VIR TDYV=IR

15

RN a8 T

A reglon around a stationary electric charge has

GGIE

A) Electric and magnetic field B) Electric field | C) Magnetic field D) Gama field

ﬁz{aa YIDIT &F ﬁz‘gaéaar &

16

Which induction motor will be the Iargest in size? &I I RG] Iﬁ?\’ AHR A gaq
ol gt ?

C)45kW, 975 RPM | D) All are equal size

Gt UM R
&

A) 45 kW,. 2975 RPM B) 45 kW, 1475 RPM

17

Which one of the following is not a part of transformer? ﬁai%@a Ty BN il Wﬂf{

I A T8I 82
C) Radiatoriﬂ%’qa D) Exciter TeITge}

18

Formula for synchronous speed in RPM is

A) Tank% B) Consefvatorﬁ? 7
Foml ___ . IRUiew & R T & [T 9
| S o

’A)(120xp)/f

' B)(120x)/p C)120‘x'fxp D) (px7)/120

19

Solar panel uses __. plate for electncnty generation. ﬁ\“ﬂ?’ﬁ G'CCHFI % forg, ?ﬁ? &Fﬁl’
__ Qe e Sudma gl

A) Iron 18T B) Copper sl

20

C) Photo voltaic qﬂz‘ra”l?c'rw D) Zinc S
| & ST B 5

Copper loss is proportional to _- .Wﬁl‘ﬂ

Al

TB) P

TO)P

ID)«f

21

. Capacity of battery

isexpressedin___ =

éﬁaﬂmaﬁ

¥ e fepaT T &l ﬂ

[AY KWh

B)kW

C) AH

D) HP
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22

A switch is always connected in series W|th _ Wwieg Gal Eﬂ'-‘(ﬂ -
oG B SIeT o 81

A) neutral wire B) phaée wire - C) ground wire ’_D)any where

23

Which type of wiring shall be done where mechanlcal and fire safety is required?

et e SR 3iff RN B Sfawawhal 8, Te! 54 THR 1 AT ) St 2

TA) Casing-Capping -1 | B) Batten 9c | C) PVC TaRN | D) Conduit b1

|24

___amount of heat will be generated in a filament of resistance of 2 ohm, when 2
Ampere current passes through it. W§ 2 TR ﬁaﬂﬁ YR, Th. 2 e m‘ﬂ &
fpadic & YoRdle, a9 AT O SHISAA SR« .

A4 W ~ [B)2W [C)8W |D)1W

25

In three phase, STAR connection, Phase voltage is _times Line Voltage.

zﬁﬁmwﬁwﬁﬁmaﬁamaﬁmﬂ TN B B

TAY0577 ~[B)0.707 ~C) 1000 D) 0.447

26

In electrical wiring colour wire is used for grounding.

Riqgd aaieTd %1 R AT 3 Rig 3o R s 3|

A) Red @Td 1B) Yellow el ___{.C) Blue e | D) Green &1

27

The power fact%r of pure resistive circulit is s;auﬁr@rw WWWW

F.A)O —_B)1 1007 D) 0.85

28

Specific gravity of electrolyte in.-a fully charged lead acid cell is

approximately W@W@ﬂﬁmmmm%ﬁmﬁ |

Ry EaTw_ . @Rl

A)1.10 [B)1.05 [C)1.20 |D)210

29

Which of the following protects a cable from physncal damage? Fafea A9 s

| T Fw B WfoE TeEE ¥ T 87

A) armour 3R * |'B) conductor SR | C) msulatlon's'iﬂ?lm | D) sheath Sy~

130

Which among following is active component? afcfd & @ 3 U Hishd ues g7

A) Capacitor GYIf%z | B) Transistor CifoReX | C) Inductor §8&X | D) Resistor UfeRIt®

31

Phase difference between three phases of balanced 3-Phase system is

Hfera 3-Uor Jomelt & AT B & iF Hrofg o gl

A)180°. B) 360° | C)120° ~ [Dy60°

32

Synchronous speed of a 3 phese, 4 pole, 50Hz induction motor is

3%, 4171, sosﬁmﬁmﬁaﬂﬁaﬂwnﬁ Bl

A) 1500 rpm B) 3000 rpm C) 1440 rpm D) 2880 rpm
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Power factor of an AC circuit is , where 0 is phase angle. fedt Ac ofvuy Gl

33
TR PR _ % Grs'r To o B0 § |
A) Sin@ - | B)Cos 6 C) Tan 0 . D) Cot 6
34 | Limiting temperature of ‘F’ class insulating materialis _______.'F’ 3Uil 37{],?!2? 1
yfdeie® qowe gl
A) 180°C ~|B) 105°C o | C) 120°C | D) 155°C
35 | One HP = Watts. Teb QU = qle | |
A) 756 | B) 746 | C) 500 | D) 1000
36 | When two equal resistors are connected in series equivalent resistance is 8 ohm

and when connected in parallel equivalent resistance becomes 2. ohm. Value of
each resistor in ohm is .99 & 99 gioRidl 3 g@en | Siel oidr g al |
TG URRIY 8 3N BT 8, IR ahvaawwﬁsham 2, 01.99ged ufeRly 2

3T g1 1 ot & vl wfeRiy &1 A ' | |

[A)2 | [B)6 | T67 1 D4

37 | EHV system is generally used for of electricity. EHV TR DI JUANT |
Y AR W faoredt & & for fopan S 31
A) generation B) utilisation C) transmission D) distributioh
| 38 Posutlve plate of lead acid cell is made of W Qﬁlg W Pl ‘éFﬂ?FW Wic
' T T gl 8
5 Carbon'dﬂiﬁ | B) Lead@W rlCopperFﬂElT ] D) Lead dl0XIde’@l€€F§&ﬂaﬂ1€S
39 For Sin wave, RMS value = X-maximum value. HET-I T $ ﬁm El'ff
MOGAA = xofipad AF
A)0.707 B) 0. 635 = C) 0.859 ' D) 1.732 -
40 | The tube of fluorescent lamp.is filled with . TAIRRIC oU &l &4 g
A) Oz and Ar B) Fe and Nz »C) N2 and Ar | D)Hgand Ar
 41 .Genera'lly,», resistance of 'shunt used in ammeteris of ________ value. 3{IH TR R,
THieR H YRt e HPAAY PTAF __ gl gl |
A) High 3if¥ | B) Very Low ggd ®H | C) Medium HHH | D) Very high dgd 3 -
42 | Capacity of Transformer is generally expressed in . TIIBIER D1 &HdT B
Gﬂ'ﬂrFﬁTtR | Hogad fean ST g1 | 3
7 A) kw ‘, ByMW . |C)MVA D) kVAR
143 is used for controlling the temperature of electric iron. éaga 3@ &

|TEE @ PR s SR s fearemar g

A) thermostat YT | B) transistor ¢S | C) thermistor YR | D) relay el
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44

conductor is used for commercral transmission line. W ET@T&F‘ZFT
THAHA_ P HSIR DI S BT AT

A) Copperdiel B) Aluminium TegfA@H | C) Silver Tial D) Iron @ET

45 | Slip of the induction motor at stand still is ____. R @RI H TSI HIR Bl
A0 TB)025  [C)0:50 D)4.00"

46 | Multimeter is used to measure » . AceHIeY &1 SUART AU & fow
fparSrar 81

A) Voltage dleedl | B) Current YRT | C) Resistance UfdR1Y | D) All of these T G+t

47

A 1500 W split air conditioner operates 12 hours in a day How much units will be
consumed in one month (assuming 30 days in a month). €h 1500 W, fRae- -UR
HOIRMR U@ T T 12 ¢ Harfea giar g1 Wn@ﬁﬁﬁmﬂﬁmwﬂaﬂw

Bl (@@ HeA & 30 i1 9Md 5O |

A) 150 B) 18000 C) 540 D) 1500
48 | Commutator is the part of BRI ___ oIfgwwel

A) DC motor B) Inductlon motor | C) Synchronous generator | D) Transformer
49 | Which of the following material has highest dielectric strength? ﬁ'ﬁﬁf@ﬁ ff ¥ fog

verf # SeraH WRIdSTd & 87

A)AIrgal | B) SFe gas G§U; T | C) Paper @Sl | D) DMWaterﬁ@ﬁﬁaaa

50

CT is used for measuring _- . CTHISUaNT __ AT & fore fohar oadn B

A) Frequency 31dii | B) Voltage:dleesl | C) Current §RT | D) Temperature aTdHIA
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